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20 |grEEw| 21 |grEmEwe| 22 |giEsEw| 23 |giEmEw| 24 BRI
BERRE (%) (%) (%) (%) (%)
E & 3,011 A 0.6 2,918 A 3.1 2,908 A 0.3 2,911 0.1 2,944 1.1
N = 1,003] A 2.5 048] A 5.5 934 A 1.5 9291 A 0.5 885 A 47
& i 4014 A 1.0 3,866 A 3.7 3,842 A 0.6 3,840 A 0.1 3, 827 A 0.3
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20 |anEmEr| 21 |wiemEt| 22 |meEmr| 23 |mEmw| 24 |miEmEn

BERRE (%) (%) (%) (%) (%)
KERTHER 2,555 A 0.6 2,485 A 2.8 2,414 A 0.5 2,493 0.8 2,4771) A 0.6

T Otttk 5k 1,459 A 1.8 1,381 A 5.4 1,368 A 0.9 1,346| A 1.6 1, 350 0.3
& & 4,014 A 1.0 3,866 A 3.7 3,842 A 0.6 3,840 A 0.1 3,827] A 0.3




